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Note :  Answers may be written either in English or in Hindi; but the same medjum should be

used throughout the paper.
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Attempt any Five questions._
All q‘ule_:stions carry equal marks.
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1. Explain the shape of the Prociuction Possibility Curvé- using the co’hc_:ept of _opportunity'cost. _
Explain the factors responsible for shift in PPC. N : : 15
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Distinguish between movement along the demand curve and shifts in demand curve.
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What are the basic implications of a ceiling price and floor price fixed by the government

in a competitive market ? _ 7,1
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Distingui§h between Price elasticity of demand and income elasticity of demand.
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Prove that the' elgsticity of demand varies from point to point on a strﬁiéht line demand
curve. | T%,7%
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Draw an indifference curve and eﬁp]lain hovs.r bﬁ.ce effect is surn of substitution effect and
income effec‘:t, if there is a fall in the p;ice of nofmal -commodity.
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" (b) Show how you can derive a demand curve with the help of an indifference curve and

budgetline. - | . 7.8
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(@) Explain equilibrium .of _the firm with the help of 1soquant aﬁd isocost lines.
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(b) The following table gives a total output or total product as a function of labour units

used :
: Labouf Total Output
o : 0
1 15
S T
3 o 22
4 24
s Y
Does the table indicate the sitﬁati_on of diminishing returns ? Explain your answer. 7.8
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(@) Explain the relationship of different cost curves in the short-run. Why is short-run average

cost curve U- shaped ?
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(b) What is the relationship bétween MC gnd Aé ? o 10,-5
mﬂ%waﬁamﬁmﬁwaﬁﬁw'ﬁﬁu‘% ?

Derive sh;)rt-run supply curves for the firm and the iridustl.'y ina competit’ive market. 15
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8. Write short notes op any two :

() Cross-elasticity of demand

(#)  Diminishing Marginal Rate of Substituti_on

(#5) Shut Down point of a fim in a competitive market.
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